RZELMTRE AT H RA T

FrIANARR <8 B34 X8 BB A ORI

(BEBM—F&EH 2022 ik A Z)

RER

— FEAETEA AR AR AELR B
() BEEAEWEAT brdfE

1. FREuE

ZEFEHR. 90 R

2. FUERIRAER R RE: 10 K/ (BOE M T FORE M 395 55 A i
RIS & 7D
3. HEMEORAN:

1)

2)

3)
4)
5)

6)

HORE W P08 5 A B i M ORI < DT HEEIG A 1000 Jo/ K, Rit
2 AT REL 100 R/4E, fREER & 10 /17T

SRR S BN ARSMNE A A (ECMO) ¥89T IR & 07 (F: 10 /3
JG

B iR yT IRK 2 534E: 10 J17T

i€ KA E R T ARRR & 5T4E: 50 /170
RARK BT 10 JI7T

7R T S BN H R AR R U R RIS B DU 10 STt

() FHEAELRDE
Lo B IR AREAR S IR L1 (R B

L T8
FiE JA2) A/ Ttk

0-4 36
5-10 16
11-15

16-20

21-25 11
26-30 14
31-35 18




—N

36—40 21
41-45 26
46-50 41
51-55 51
56-60 68
61-65 87

e BRAZIESN, 0 8% R AR 30 K HLE R B

BRI AZIES, B IREIR KARSARIEHEE AR 1] 90 Ko

2. BRRAFEEHELR DR

SHABRY

e SRR BOCE M T B R R RS R

TRt JH%) 1/ ALk
1-4 39
5-10 17
11-15 8
16-20 9
21-25 12
26-30 15
31-35 20
36—40 23
41-45 29
46-50 45
51-55 55
56-60 74
61-65 94
66-70 139
71-75 176
76-80 213
81-85 333
86-90 425
91-95 541

96-100 688
SR D 3
0 1.75
30 1. 20
60 1.10
90 1.00

Bfr: Jo



=. BEREBRY

R RE
W2 ORI P R
W0 52K F 45 F 10 4 L 0o
s HIRH R F55F 10 52 '
W0 52 /T 10 4 0.95
HAEHWAHEANTF 10 32 '
P2 B ANIX 5y 1.00
TFERE 2
B RARAERE EX 10
Rt 0.95
ANPEAt 1.00
PR AN 2 1.00
R RS
JJ3 5 R 75 PR R
JoFR I 0.95
HHE 1.00
PR AN 2 1.00
R R H 4
FEARI BMI R
INTF 19 8K T 24 1.00
KF2TF 19 HANTF2T 24 0.95
AR 1.00
W REL 5
SHHE R EL E¥ 10
KT 42 & 0. 90

KTET 30 BAHNTET 42 [ 0.90 (AE) -0.95 (&)

KT2F 20 & HANT2T 29 0.95 (A% -1.00 (A2

NT 20 1. 00

e 1.00

e DO BN T RS2, RSN R D ok br A B R B

MR 6

Z 5. @5 E 25
e SE A R E T B -
Zhn 0.98




Ko 1.00

P2 AMELX 2y 1.00
R RE T

P A EX
TG A CEM. APP S5 HHY) 0. 70
A ARG 0. 85
IIE B AR A 1.00
IIE B AR S 1.15
P2 AL 2 1.00

T SRIE B A AR AN R SR A B A 51 B8 5 A RO L

T RH8

TR/ 7 52 I A) 2 RE
ANt 30% 0.40 (&) -0.75 (&)
it 30%, EAEE 50% | 0.75 (AE) -0.95 (&)
it 50%, EAEE 70% | 0.95 (AE) -1.50 (&)
R 70% 1.50 (ANE) -5.00 (&)

T TUY/ D0 SEAT SR TR 2 18], SR RS sk 3 00/ D S A 5 SR

R RE9
T EX
panli 1.09
Ao HA 1. 00

B AR R =1 R B X R R 02 X HE R B8 X R 4 X R X3
ZH6 X TR R BT X R RS X R %9

DO, fRE SR
(=) —IRMELAT RS 9% -
Lo SR CERIIREAREER) =B IR R B S R v fR B X S5 455
WA X PRI AL
2. HEREET (B =SERESUER P X PRI AR AL

(=) IR DR 9 -
Lo SR CERIIREAREEIR) =B IR R B S R LR B X S5 455
WARR X PR R A, HAIORES =R ORR 2 +— 0 IS AL



2. HEREGPY (B0 =SRIRFEIEMEOR T X SRR R, HAA IR 2 =4
ORIS: B =+ 73 W SZ A 31 4



